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by their sum is:

Downloaded from ↪ www.CSSMCQs.com | 1

The result of dividing the difference
between two numbers by their sum
is:
A. (n – m) / (n + m)
B. (n + m) / (n – m)
C. (n – m) – (n + m)
D. (n + m) – (n – m)

Show Answer...
Correct Answer: A (n – m) / (n + m)

Explanation:
Let us make the question simple and clear

Which expression represents the result of
dividing the difference between two numbers (n –
m) by their sum (n + m)?
The result of dividing the difference between two numbers (n – m) by their sum (n
+ m) is represented by the expression (n – m) / (n + m). This expression
calculates the ratio of the difference between the numbers to their combined
sum.
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